Correction for RC condition in Penta (2012, Ecta)

(C): for each i, (6p,0;,0—;) and a, there exists (98, 0‘11») such that: For each
J # 1, a; is dominant at (08,01-,02), and u; (6o, 60;,0—;) = u; (Ho,éi,ﬂ‘ii).

Part (i) of the richness condition reads as follows:

(RC-i) Vs € S, 30° = (65, 05,6°,) : Vi, s; is conditionally dominant at 6*.

The condition should be adjusted adding ‘V (6g, 6;,0_;)" at the beginning,
and ‘u; (00,0;,0_;) = wu; (Go,ﬁi,ﬁii)’ at the end. That is, it should read as
follows:

(RC’-1) V (6, 0:,0_;), Vs, 30° = (987 02, 93_1») : Vi, s; is conditionally dominant
at 98, and (7 (90,92‘,971‘) = U; (90, Gi, 96_1)



